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Simultaneous Equations

[~———————————— gl |
| What do | need to be able to do? : | Feuwords .
| o

| By the end of this unit you should be able. : Solution: a value we can put in place of a variable that makes the equation true :
| to || Variable: a symbol for a number we don't know yet I
| Determine vhether (e s aisoblion 1| Egugtion an equation says that two things are equal — t wil have an equds sign = |
|+ Sobe by substituling a known varigble : | Substitute: replace. a variable with a numerical valve |
| = Sobe by substitutng an expression | | LCM: lowest common mutiple. (the first time. the times table of two or more numbers match) |
|+ Sobe graphcaly | Eiminate: to remove |
| Sole by subtracting/ adding equations | | - |

| 1 Expression: a maths sentence with a minmum of two numbers and at least one math operation (o equas sign)
|« Sole by adiusting equations I o I
| . ' Coordnate.: a set of vales that show an exact position |
Form and solve Inear simuttaneous |1 Intersection: the. poirt tro | t

| equtiors | | Intersection: the point two nes cross or mee |

1 s (x. u) a soltion?

x and y represent vales
that can be substituted into

1
Two different variables,

two solt
| an equation I Stephanie knows the 3x +vy =14 3(4) +y =14 e I
I I i Y y= 12+y=14 |
[Does the coordnate (1.8) e on the Ine y=3x+57 | pont x = 4 les on that h ol
I |I Ine. Find the value for y L | 2 | u I 4 IREEENE 1z
I I 14 14 I
| This coordinate represents _ =2 I
| x=land y=8 x=4 Y |
_______________________________ |
| y=ts T ubstituting in an expression Sbslie 2y n phee o the x bk os ey |
| 8=3(1)+5 l 4 4 represert. the same vale |
| 0s the substitution makes the X~y ri e L |
| equation correct the coordnate : ~ * x=2y I
I (18)1S on the Ine y=3x+5 X +y =30 x |y x=2y x+y=30 | I
I 3 10| 10 |
3y =30
I [ls(ﬁ,?)onthesamelmeﬂ \ v [y [y 3y = 30 733’ +/ X I
: 7#3(2)+5 Pair of simultaneous equations % y=10 x =20 I
L No 7 does NOT equal 05 (two representations) _!
r~. .~~~ - - - -7 o L ie . T T T T T T T T T T T T T T
| Sove. araphically 11 Solve by subtraction |
I || * X% ¥ y =18
X+y-=0 Y- . 1 3x+2y =18 A A |
I [ } [ } ({2,3;{3(}?@ l| x+2y =10 @& =10 |
| Linear equations are straight lines 4 | |
| intersection 10 — ,

The point of intersection provides / [ B 2x =18 Y / / —18 |
| the x and y solution for both [ +2 +2 s / / —10 |
I equations l| _ x=4 ' / = |
I I |
I : I: o x+2y =10 O =8 :
| The sobtion that satisfies both I (4 +2y=10 |
| equations is | x=4 —4 2y = 6_4 =4

| 7=° |
: L | »=3 R 2 (v) =3 |
I - ' |
| Solve m addition Oddtion makes zero pairs ” Solve bH ad)UStlnq one ,2\ I| Solve m ad)UStlnﬁ both |
I 3x+2y= Coxx =16 I I
y=16 Il h+j=12 Noequudent vaes =
j= 4 I | 2x+3y =39 Do =39
222 oee Il 20 +2) =29 WY Nisx-2y=-7 eeee® -7
=2 | 29 | <
I 9x =18 DO ¢ I
| +9 +9 I 24 I I Use LOM to make equivaent x OR y values |
| x =2 > @ o : : 2h+2j =24 | W | | Because of the negative valves using zero pairs I
= . hjnlili] and y values is chosen choce
| 3x+2y=16 po® =18 2n 42 =29 Honon (! |
INENE!
32) +20») = 16 g i — ] _ '
| 6+ 2v =16 I By proportiondlly adusting one of 29 | 4x+6y=78 ; |
I Y —6 =2 | the equations — now solve the |I 15x —6y =-21 rososeee |
| 2y =10 I simuttaneous equatiors choosing | I Now solve by
| =5 I an addition or subtraction method | I addtion




